Department of Mathematical Sciences, KFUPM

Time: 50 Min, MATH 101-051 Points: /50
ID Section: 4, 8, 12, 17 Serial #:
Note: Show all work. 6-&{ u‘ér‘m No Calculator is allowed.

Ewvaluate the limits in QQuestions 1-5
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6. Let f(f)= . Using the concept of limit, find (6 pts)

(a)  all horizontal asymptotes (if any)
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(b)  all vertical asymptotes (if any)
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T Use the (g,d) definition of limit to show that EEIZ(?JII-&-T}II. (5 pts)
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8. Find all the points where the function f(x)=
4 if x=3.

is not continuous in the interval [-1,3]. (6 pts)
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9, Looking at the given graph of f(x), answer the following questions: (6 pts)
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lim fO)= 2

. lm f(x)= 0

. lim f(x)= 2

. f(x)is Not Left Continuous at the point(s) x = —I12 ;- 8 2 -3

. f(x)is Not Right Continuous at the point(s) x = —IZ , =3 5 #

. f(x)is Not Continuous at the point(s) x=_— 12 5 - 8 ) -3 ;



